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A wall wide five o°nov — IRP KD 9DV ORP 777 RINIONK 77213 NI PAIN
Can support a height of four n12X but not more

OVERVIEW

The X773 infers from our Mwn that a stone wall of n°13 four MnX high requires a
width of 'omov ' in order to be structurally sound. In fact a width of a°nov 7 will
only support a wall of mnX '7; but not higher than nmnX '7. nwoIN will argue that
both our 7wn and life experience contradict this assumption.

nooIn asks:
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The n"1 has a difficulty with this statement; for bricks which are inferior to N,

and nevertheless they stand on a width of even three 2n9v for a height of four m»x.
Why therefore does the X713 assume that n°13 which is stronger3 than 1°2°2% require a full o'oY 7
width in order to be able to remain standing upright?

mMooIn has an additional question:
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And furthermore we do actually see that even a n°t3 wall can stand more than '7

NX high even on a width that is less than five o°nov wide. Why does the X3 say that n°m
requires 2°19Y 77 (and even then only for mnX '7 high).

N1B0IN answers:
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And the n"7 answered that this is what the X ) is saying; more than mnX '7
high it will not remain standing for a sufficient time as is appropriate for n>7a -
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For people want to build n°13, provided that it should last for many years when
they build with nsta. It is true that n°1x walls can be supported for more than M»X '7 high even
on widths of less than 219w 7. However the longevity of these walls will be shortened. People
building with expensive n°13 material want their walls to last much longer. Therefore the increase
in width is required to assure maximum longevity. 1°1°2% walls that are not that expensive; a
width of three 0°1dv is sufficient to assure the limited longevity, commensurate with its cost.

" An 7nX is usually considered approximately 18 inches; a 75w 3 inches.

? The mawn clearly states that for 13°2% a total of only o°ndw 'x is required for a mnx '7 >m>.

? One would naturally assume that the stronger the building material the less width is required to attain the same
height. In our 71wn we see the opposite. 71227 which are inferior to n°1a require a narrower width than n°1, which is a
stronger material.
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SUMMARY
To assure the maximum longevity for the expensive n°1x wall a minimum of '3
o119 width is required to attain a height of n1ax '7.

THINKING IT OVER
What is the difference between the X128 M7 and Xipon of NMvOIN as to the reason
for the various thicknesses of the walls?
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